Pre-Caleulus Worksheet
NEEPER SKILLS for Exponents
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NOTE: For the RULES, let a and b be real numbers and m and n positive integers.

DAY ONE: Simplify. Write your final answer with positive exponents ONLY.
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DAY TWO:  Simplify. Write your final answer with positive exponents ONLY.
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DAY THREE: Simplify. Write yo

ur final answer with positive exponents ONLY.
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DAY FOUR:  Simplify. Write your final answer with positive exponents ONLY.
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DAY FIVE:  Simplify. Write your final answer with positive exponents ONLY.
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DAY SIX:

Simplify. Write your final answer with positive exponents ONLY.
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DAY SEVEN: Simplify. Write your final answer with positive exponents ONLY.
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DAY EIGHT: Simplify. Write your final answer with positive exponents ONLY.
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DAY NINE: Simplify. Write your final answer with positive exponents ONLY.
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